
Integrated Math 2   Section 1.3   Name:       

Find the Inverse of Function. 

1. 𝑓(𝑥) = 10 − 4𝑥 2. 𝑔(𝑥) = 15𝑥 − 10 

 

 

 

 

 

3. ℎ(𝑥) =
𝑥−12

4
 4. 𝑘(𝑥) =

3𝑥+1

6
 

 

 

 

 

 

Find the inverse of each function. Then graph the function AND its inverse.   

5. 𝑓(𝑥) = 5𝑥 + 10 6. 𝑔(𝑥) =
9

2
𝑥 − 5 

 

 

𝑓−1(𝑥) =_______________________    𝑔−1(𝑥) =_______________________ 

 

 

 

 

 

 

 

 

 

 

 

  



Use composition to determine whether each pair of functions are inverses. 

7. 𝑔(𝑥) = −
7

2
𝑥 − 5  and  𝑓(𝑥) = −

2

7
𝑥 −

10

7
 

 

 

 

 

 

8. 𝑠(𝑥) = −2𝑥 + 7  and  𝑡(𝑥) =
1

2
𝑥 +

7

2
 

 

 

 

 

 

9. ℎ(𝑥) =
1

3
𝑥 + 4  and  𝑗(𝑥) = 3𝑥 − 12 

 

 

 


